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Stat 2470, Quiz #11, Spring 2015 Name {::

Instructions: Show all work. State any formulas used. If you use the calculator, you should say which

function you used, and what you entered into it, as well as any output. | can only give partial correct for
incorrect answers if | have something to grade.

1. What assumption is made when conducting a pooled T-test?
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2. Conduct an appropriate hypothesis test comparing two types of steel to determine whether

they have the same true average strength. Clearly state the appropriate hypotheses and
compare to a 1% significance level.

Type Sample Average Sample Standard Sample Size
Deviation
A 60.1 1.2
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3. Calculate the 80% confidence interval for the difference between the two steel means. ! e »53'3—“@0
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